Income/Expenditure Worksheet

Consider only income column 1. Suppose that HK$8000 is your monthly net income, that it has been so
for some time, and that you will continue to receive it for some time. How would you spend your money

in each month? Remember, you cannot spend more than your monthly income.

When finished with column 1, repeat that exercise for the other columns, always under the assumption
that you are receiving the indicated monthly income, have been receiving it for some time, and expect to

receive it for some months to come.

Item [Monthly Income Columnl  |Column2 |Column3 |Column4
No. HK$8000 |HK$13000 [HK$18000 HK$23000

1 |Food/household (e.g. dishwasher
liquid, etc.)

2 |Housing (e.g. rent, mortgage

payments, repairs, etc.)

3 |Transportation (e.g. gas, car repairs,

bus fares, etc.)

4 |Medical (e.g. insurance premiums,
etc.)

5 |Entertainment/recreation (e.g. eating

out, etc.)

Other ordinary expenses

Savings/personal investments

TOTAL EXPENDITURES HK$8000 |HK$13000 HK$18000 [HK$23000




Table 1

Income/Expenditure Table

[tem Monthly Income Columnl | Column2 | Column3 | Column4
No. HK$8000 [HK$13000HK$18000|HK$23000

1 Food/household

2 Housing

3 Transportation

4 Medical

5 Entertainment/recreation

6 Other ordinary expenses

7 Savings/personal investments

8 TOTAL EXPENDITURES HK$8000 [HK$13000/HKS$18000{HK$23000




Table 2 Summary of Expenditure and Savings Data (1)

Monthly Income

Columnl1
HK$8000

Column2
HKS$13000

Column3
HKS$18000

Column4
HKS$23000

Total Monthly Income
of the class

Total Consumption
of the class

Total Savings
of the class

Average Propensity
to Consume
(APC)

Average Propensity
to save

(APS)




Table 3 Summary of Expenditure and Savings Data (2)

Monthly Income

Columnl1
HK$8000

Column?2
HK$13000

Column3
HK$18000

Column4
HK$23000

Total Monthly Income
of the class

Change in Income

Total Consumption
of the class

Change in Consumption

Total Savings
of the class

Change in Savings

Marginal Propensity
to Consume
(MPC)

Marginal Propensity
to save
(MPS)
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